
21 ОКТЯБРЯ
КЛАССНАЯ  
РАБОТА



СОСТАВ ЧИСЛА 11
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СОСТАВ ЧИСЛА 12
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РЕШИ ПРИМЕРЫ ПРАВИЛЬНО:

                                      7 + 6 =
                         8 + 5 =
                         4 + 9 =











РАБОТА 
С 

ПЕРФОКАРТО
Й



РАБОТА С ПЕРФОКАРТОЙ

6+7 8+5 9+4

10+3 6+6 7+6

16-3 34-4 15-2

5+8 20+1 26-13

23-10 3+5 20-7



РАБОТА С ПЕРФОКАРТОЙ

13 13 13

13 12 13

13 30 13

13 21 13

13 8 13



РАБОТА С ПЕРФОКАРТОЙ
13 13 13

13 12 13

13 30 13

13 21 13

13 8 13



ДОМАШНЕЕ 
ЗАДАНИЕ:



- Я ТЕПЕРЬ ЗНАЮ СОСТАВ 
ЧИСЛА 13 

- Я НЕ СОВСЕМ ПОНЯЛ, КАК 
ПОЛУЧИТЬ ЧИСЛО 13

- Я НИЧЕГО НЕ ПОНЯЛ НА 
УРОКЕ 


